x10 we just know, x0 we just know, bus stop for other x and draw people for ÷ and fractions

	 7 x 10 =

	 5 x 0 =


	 9 x 10 =
	 7 x 0 =

	4 x 3 =
	14 ÷ 2 =

	  5 x 5 =
	  10 ÷ 1 =

	 25 ÷ 5 =

	  ½   of 12 =
  


x10 we just know, x0 we just know, bus stop for other x and draw people for ÷ and fractions

	
 9 x 10 =

	 25 x 0 =


	 19 x 10 =
	 87 x 0 =

	 8 x 3 =

	 16 ÷ 2 =


	 35 ÷ 5 =

	  ½   of 20 =
  

	 20 ÷ 1 =
	  ¼   of 24 =


x10 we just know, x0 we just know, bus stop for other x and draw people for ÷ and fractions
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17.A shop sells bags of tennis balls in packs of 5.

In a week the shop sells 35 balls.

How many packs of tennis balis are sold?
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19.A packet of chocolate biscuits contains 5 biscuits. Nita buys b packets of biscuits. How
many biscuits does Nita buy?

C
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22.A class of children sit in groups of 4. There are seven groups

Write the calculation you would use to calculate how many children there are in the class.




